The Log Cabin

Task A

Look at the words in the brackets. Underline the one which completes the sentence.
By morning, the snow had (gone | go / went | going).
The boy was lost because he had (take | took [ taking | taken) a wrong turn.
The fox was (left | leave | leaving | leaves) footprints in the snow.

Yesterday, he (had [ have [ has | having) great fun sledging down the hill.

Task B

Underline the grnmmntiml error in each sentence. Write the correct word on the line.

The snow fell quick, covering the rooftops and gardens.

The bright lights were twinkling and dances in the night sky.

Lakes turning to ice as the temperature plummeted.

The children wearing hats and glmres to protect themselves from the cold.




